1197. (hyp wwlwunpnny Ynpugptip thush nmwuunprpuljuuutpp.

w) 0,9382 , 1) 1,0625 , k) 200,18 ,

p) 28,2897 | k) 80,0388 , n) 567,911 ,

q) 100,5621 , q) 6,0999 , p) 0,0008 :
w) 0,9382 = 0,9

p) 28,2897 ~ 28,2

q) 100,5621 ~ 100,5

1) 1,0625 ~ 1,0 = 1

k) 80,0388 ~ 80,0 = 80
qQ) 6,0999 ~ 6,0 = 6

b) 200,18 ~ 200,1

n) 567,9111 ~ 567,9
p) 0,0008 ~ 0

1198. (rhyp hwytympnny Ynpugptp dhush hwpmpbpnpnuljuuutpn.

w) 7,8932 n) 0,9999 | L) 2,3845 |
p) 85,0639 , k) 65,6788 , n) 18,0936
q) 0,111, q) 721,8957 p) 55,6009 :

w) 7,8932 ~ 7,90

p) 85,0639 ~ 85,07

q) 0,111 ~ 0,12

1) 0,9999 ~ 0,100 = 0,1
k) 65,6788 ~ 65,68

qQ) 721,8957 ~ 721,90
b) 2,3845 ~ 2,39

n) 18,0936 ~ 18,10

p) 55,6009 ~ 55,61

1199. Uubip, pk uhush np upgu E §inpugyws phyp.
w) 93,6527 = 93,65 , q) 0,563891 = 0,564, k) 0,7014 =1,
p) 734,82 = 735 , 1) 0,563891 =~ 0,6 , q) 0,102 =0 :

w) Yinpugyuwé £ uhusl hwpmupbpnpuju

p) Yinpugqwd Ehwytnpnny dhusl dhwynpubph Yupgp

) Yinpugyuws E uhush hmqubpnpnuju

1) Jinpugywé E dhtsh mwutnpmuljuabkph

&) Yinpugywd Ehwdknpnny dhsle dhwdnpbph upgp

@ Yinpugyuwd Ewywluwunipnny dhigh dhwdnptiph jupgp



1200. El;pli'plm]h pnlﬁp Iall_uﬂ.l;u,l'll'l,lhpn, npnhp mum;lumhgh thnjuwpbiu

gnbint niypnud Yinpugnudp ahym jumwpywsd ihuh.
w) 2,66* = 2,66 , q) 18,6 = 18,5* | k) 7,5 = 7,5%,
p) 0,3x= 0,3, 1) 25,03+ = 25,04, q) 800,00 = 800 :

w) * = 0..4
p) *= 0.4
q) *=5..9
n) *=5..9
k) x = 0..4
q) *=0..4



